BFABEFANLODLXE

1A L #& R
A KR B | BEOLBY

HAREETER TROERREETEE

22 H AR

R xEHEB ANV EFXE

BHEEOER BARTEETEBF T Brh5EHhT

a i"’ %ﬁ *’g EEMESE HENNELER)

I$0)%Fﬁ' Alr JIn =] E— = 90 3 S
4T (4 AR ) FXMhBET LAFE&S 18R BHHEBHAERHER

I$o)*§ﬂ“'%l‘f& A= 4-
(@ @ | HEfE

I = 08B = EE#IEOEERE
Jao— #HE# IMC4510F

(2B OWE)
(REAM G259
T & SFI6E4A18 i SF11438318
(@ 7 % /M) ™ > ™Al
* #l = 58.11 %
&N 19,500 M.~ A (FithE
(bEH# %) 1,287,000 M (FiiAA)
2 # & @
KIF—<oRE  E/50 20,000 #
(15 BRA) 7= 2,100 44

28,700 M (BithZE)

() IFELSNRDIZHDISAE




A L B =
(Bf: M)
# 4 AfLBITEE F ML (Bitk)
B B BB RER) " _ EER 27,000 m
SFISAEI2A 11 H (BMEICKDARL) T e 2 55950 m
it 82950 m
1T (#AA) ZF 31! 1T BB I Bl (Biik)
KT H HET_EVR TR 1SN BE R E R R PEEE B mq
2 maxs ¥10 2 mmxs 10
= I5H e = pr=g=| Bz
= e XIEAF S (Bik) = S RIEA TR &5 (Htk)
R 25,200 Bk 26,500
1 |[(BR) ¥~ NI A= A} 91,750 9 |(B)TVARNETVRA (NI x—vv Ak} 122,800
7 116,950 7 149,300
EER 25,000 EERE
2 | ) N5tk NT =< Ak 91,500 10 NT A=</ AE}
7t 116,500 7t
A 18,000 Bk
3 | (B B N7 =3y A} 32,170 11 NT k= ARk
i 50,170 #
R 19,500 R
4 | Y UET IR NI 4= 28 O 28,700 &AL 12 T = A}
it 48,200 it
AR 29,000 Bk
5 |CA) RIS N7 =2y A} 227,000 13 NT k= ARk
it 256,000 #
R 28,000 R
6 | () A=A NT =< Ak 196,150 14 NI A=< A}
ik 224,150 al
EEEE 25,800 BAEE
T (R ATTTF NI A= ARk 106,200 15 NT k= AR}
i 132,000 i
R 28,000 R
8 | (BR) 7o NT = A 196,150 16 NT k=< 2k
Ak 224,150 al




